Losung Al
fix) =5-g,(x)

fil)=5"9."(x)

or- und t_ nzragel Jf
Leve/ 1 - Grund/agen - Blatt 2

éfferenz/a/re@hnung
2p (LIS G

%Su‘h@“en v

f2(x) = 0,255 g,(x) f2(x) = 0,25 g,'(x)

f3(x) =10°- gs(x)  fi(x) = 10°- g3(x)

fa(x) = a- gu(x)

fi(x) = a- gy(x)

fs()=b71gs(x) fi(x) =b""" g5(x)

fo(©) = V2 - go(0)

fo(®) =2 gg(®)

f7(8) = 125x - g;(t) f7(t) = 125x - g7(t)

Losung A2

FE=grigxdir A= HO =15
f(x) = 5(x2 + 5) — 2x? fo(x) = 3x2 + 25 fo'(x) = 6x
f5(x) = 21(t — x)(t + x) f3(x) = 21t% — 21x? fi(x) = —42x
[ = 52 4200 fi) = 228 Flo) = 622
fs)=B-6)x5+2x5 | fs(x) = —x5 £ () = —5x*
fo)=3-5-t2-t3+¢5 fo(t) = 16t° fo(t) = 80t*
f =220 FO) =2t fo =2
Losung A3

fi(x) = x° fi(x) = 9x® fi'(x) = 72x7
fo(x) = 2x° f,'(x) = 10x* £ (x) = 40x3
Fi) = 219 fi) = 25514 /() = 350413
fa(x) = ax® fi(x) = 5ax* £'(x) = 20ax3
fs() =%-x6 fL(x) =gx5 flx) =2t
fo(t) = e*(1+t3) FL() = 3e2t? £U(t) = 6et
fr(®) = Eﬁ f7(®) = 3775t2 =22t
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